
Họ và Tên: Lời giảiPhép trừ bằng cách sử dụng các dòng số mở

Toán Học vn.CommonCoreSheets.com 10 1-7 86 71 57 43 29 14 0

Câu  trả  lờ i

1. 7.993

2. 1.202

3. 25.491

4. 35.185

5. 33.499

6. 34.361

7. 320

Giải các câu hỏi.

1) 92.628 - 84.635 =

7.993 7.998 8.028 8.628 12.628 92.628

-5 -30 -600 -4.000 -80.000

2) 28.255 - 27.053 =

1.202 1.205 1.255 8.255 28.255

-3 -50 -7.000 -20.000

3) 36.706 - 11.215 =

25.491 25.496 25.506 25.706 26.706 36.706

-5 -10 -200 -1.000 -10.000

4) 96.262 - 61.077 =

35.185 35.192 35.262 36.262 96.262

-7 -70 -1.000 -60.000

5) 72.549 - 39.050 =

33.499 33.549 42.549 72.549

-50 -9.000 -30.000

6) 96.949 - 62.588 =

34.361 34.369 34.449 34.949 36.949 96.949

-8 -80 -500 -2.000 -60.000

7) 17.963 - 17.643 =

320 323 363 963 7.963 17.963

-3 -40 -600 -7.000 -10.000



Họ và Tên: Lời giảiPhép trừ bằng cách sử dụng các dòng số mở

Toán Học vn.CommonCoreSheets.com 10

Câu  trả  lờ i

1. 7.993

2. 1.202

3. 25.491

4. 35.185

5. 33.499

6. 34.361

7. 320

Giải các câu hỏi.

1) 92.628 - 84.635 =

7.993 7.998 8.028 8.628 12.628 92.628

-5 -30 -600 -4.000 -80.000

2) 28.255 - 27.053 =

1.202 1.205 1.255 8.255 28.255

-3 -50 -7.000 -20.000

3) 36.706 - 11.215 =

25.491 25.496 25.506 25.706 26.706 36.706

-5 -10 -200 -1.000 -10.000

4) 96.262 - 61.077 =

35.185 35.192 35.262 36.262 96.262

-7 -70 -1.000 -60.000

5) 72.549 - 39.050 =

33.499 33.549 42.549 72.549

-50 -9.000 -30.000

6) 96.949 - 62.588 =

34.361 34.369 34.449 34.949 36.949 96.949

-8 -80 -500 -2.000 -60.000

7) 17.963 - 17.643 =

320 323 363 963 7.963 17.963

-3 -40 -600 -7.000 -10.000

1-7 86 71 57 43 29 14 0



Họ và Tên: Lời giảiPhép trừ bằng cách sử dụng các dòng số mở

Toán Học vn.CommonCoreSheets.com
Được thay đổi bởi 10

Giải các câu hỏi.

7.993 35.185 33.499 320
34.361 25.491 1.202

1) 92.628 - 84.635 =

92.628

-5 -30 -600 -4.000 -80.000

2) 28.255 - 27.053 =

28.255

-3 -50 -7.000 -20.000

3) 36.706 - 11.215 =

36.706

-5 -10 -200 -1.000 -10.000

4) 96.262 - 61.077 =

96.262

-7 -70 -1.000 -60.000

5) 72.549 - 39.050 =

72.549

-50 -9.000 -30.000

6) 96.949 - 62.588 =

96.949

-8 -80 -500 -2.000 -60.000

7) 17.963 - 17.643 =
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-3 -40 -600 -7.000 -10.000
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